H ¥ X

($—HHE) HH6F9A29H(H) ($-HHB) $M64£10A208(H) ($=HB) $M6E11H178(A)

B2l EMG) HE4 BR(h)  HE% BR(h)  HE% 8:00
8:00 8:30
s st s 900
9:00] S (1 BSR) J—)L EH (18R) T—N EH (18R) T—N 050
| 4k HREA 4k HREA S HREA o
10:00] b (1 ESR) J—)L EH (185R) T— EH (18R) T—N 1030
10:30§ Py ERES REEES =REER £HEE EREE 1100
11:00] St (1 ESR) J—)L EH (18R) T— BRE E T— 130
e EREA BALES EREA 100MEAANL—  BEEA oo
12:00] Bk BikH Bk 12:30

12:30Q 13:00

POl s omm e ST (3B HE 13:30

13:30§ Kk T— L= 142 KikDF 2 REEEF 14:00

1+ 2e TN Kok Kb BB DR BE 2 BEZE s

14:30} Kk DR KIBET (1302 15:00

15:00] S5 (150 = INFANZX L 15:30

" knomEs [FRRRE R 2ih 600

16:00] R (2B509) a= 16:30

16:30] KikigEE ket 17:00

17:00§ MLEEE 17:30

R TR Rt




= F% 5h | 18:00
18:00] | =& 3h #






